JL_

Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) 10+3e>35 2) 2e+9>14 Ex.
A. 10 A.7 A.5
B.4 B.1 B. 10 L
C.6 C.4 C.8
D.2 D. 10 D.5 2.
3.
4.
3) 4e+2>17 4) 5e+8>33 5 62<7e-8 5.
A.8 A. 10 A. 10
B.1 B.9 B.2 6.
C.10 C.1 C.3
D.6 D.2 D.2 7.
8.
9.
6) 10e-6>15 7) 6xe>40 8 26+e>5 10.
A.6 A.3 A.10
B.5 B.8 B.1 11.
C.9 C.10 C.9
D. 10 D.2 D.6
9) 6xe<56 10) 3e+8<28 11) 6e+7>28
A.6 A.3 A. 1l
B.8 B.7 B.9
C.9 C.2 C.10
D.1 D.8 D.7
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Ex) 10e+3<92

A. 10
B.4
C.6
D.2

3) 4e+2>17
A.8
B.1
C.10
D.6

6) 10e-6>15
A.6
B.5
C.9
D. 10

9 6xe<b56
A.6
B.8
C.9
D.1

1) 10+3e>35

4)

7)

10)

A7
B.1
C.4
D. 10

5e+8>33
A. 10
B.9
C1
D.2

6xe>40
A.3
B.8
C.10
D.2

3e+8<28
A.3
B.7
C.2
D.8

2)

5)

8)

11)

2e+9>14
A.5
B. 10
C.8
D.5

62<7e-8
A. 10
B.2
C.3
D.2

26+e>5
A.10
B.1
C.9
D.6

6e+7>28
Al

B.9

C.10

D.7

Answers

A,B,CD

A,C.D

A,B

none

A,B,CD

B,C

A,B,C,D

10.

A,C

11

B,C,D
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Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) 9<16=+e 2) 44+e>7 Ex.
A.10 A.10 A. 10
B.4 B.2 B.5 1
C.6 C. 4 C.4
D.2 D.3 D.9 2.
3.
4.
3) 8e+4<30 4) Q9e-4>64 5 2xe>20 5.
A.9 A.9 A.2
B.1 B.3 B. 10 6.
C.6 C. 4 C.5
D.8 D.7 D.6 7.
8.
9.
6) ex4>31 7) ex2<13 8) 2xe<25 10.
A.10 A.4 A.6
B.2 B.5 B.4 11.
C.5 C.3 C.8
D.8 D.4 D. 10
9) 3xe>16 10) 2xe>14 11) ex2<13
A.9 A.8 A.2
B.7 B.4 B.4
C.1 C.1 C.6
D.9 D.6 D.5
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) 9<16+e 2) 44+e>7 Ex.
A. 10 A. 10 A.10
B.4 B.2 B.5 1 none
C.6 C.4 C.4
D. 2 D.3 D. 9 2 B,C
3 B
4, A
3) 8e+4<30 4) 9e-4>64 5 2xe>20 5. none
A.9 A.9 A.2
B.1 B.3 B. 10 6. A.D
C.6 C.4 C.5
D.8 D.7 D.6 7z ABCD
8. A,B,C,D
oo ABD
6) ex4>31 7) ex2<13 8) 2xe<25 10, A
A.10 A.4 A.6
B.2 B.5 B. 4 1. ABCD
C.5 C.3 C.8
D.8 D.4 D. 10
9 3xe>16 10) 2xe>14 11) ex2<13
A.9 A.8 A.2
B.7 B.4 B.4
C.1 C.1 C.6
D.9 D.6 D.5
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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C:h Using Substitutions to Solve Problems. Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) 10e+7>80 2) 20<7e-6 Ex.
A.10 A.3 A. 4
B.4 B.5 B.8 1
C.6 C.9 C.5
D.2 D.8 D. 10 2.
3.
4,
3) 3xe>21 4) 8e-10>74 5 3<24+e 5.
A7 A.2 A.5
B.2 B.7 B.2 6.
C.8 C.8 C.1
D. 10 D.9 D.3 7.
8.
9.
6) 43<5e-8 7) 4+6e>53 8 ex10>65 10.
Al Al A.3
B.3 B.4 B.1 11.
C.2 C.7 C. 4
D.8 D.7 D.7
9 49<9e-3 10) 14<5e-6 11) ex3<13
A.9 A.5 A.3
B.1 B.7 B. 10
C.2 C.1 C.7
D.6 D.6 D.8

3 1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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ﬂh Using Substitutions to Solve Problems. Name:

Answer Key

Deter mine which option(s) the variable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) 10e+7>80 2) 20<7e-6 Ex.
A.10 A.3 A. 4
B.4 B.5 B.8 1 CD
C.6 C.9 C.5
D. 2 D.8 D. 10 2. _ABCD
3 CD
4. none
3) 3xe>21 4) 8e-10> 74 5) 3<24+e s. ABCD
A7 A.2 A.5
B.2 B.7 B.?2 6. none
C.8 C.8 C.1
D. 10 D.9 D.3 7. none
8 D
9 A,D
6) 43<5e-8 7) 4+6e>53 8) ex10>65 0. ABD
Al Al A.3
B.3 B.4 B.1 11, A
C.2 C.7 C.4
D.8 D.7 D.7
9 49<9e-3 10) 14<5e-6 11) ex3<13
A.9 A.5 A.3
B.1 B.7 B. 10
C.2 C.1 C.7
D.6 D.6 D.8
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
[ Math ] www.CommonCoreSheets.com 3 11 10




JL_

Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) 4+3e>20 2) 5xe>35 Ex.
A.10 A.3 A.7
B.4 B.1 B.1 1
C.6 C. 4 C.9
D.2 D.5 D. 10 2.
3.
4.
3) 8e+7<29 4) 2xe>22 5) 6e+7<57 5.
A.2 A.l A. 10
B.1 B.3 B. 10 6.
C. 4 C.3 C.4
D.4 D.6 D. 10 7.
8.
9.
6) 5e-3>35 7) 2e+6<22 8) ex6<70 10.
A.6 A.9 A.7
B.5 B.7 B.5 11.
C.10 C.10 C. 4
D.3 D.8 D.2
9) ex4<41 10) 5e-4>47 11) 4e+3>39
A.8 A.6 A.2
B.9 B. 10 B.5
C.6 C.9 C.4
D.1 D.2 D.3
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
EX) 10e+3<92 1) 4+3e>20 2) 5xe>35 Ex.
A. 10 A.3 A.7
B.4 B.1 B.1 1 none
C.6 C. 4 C.9
D. 2 D.5 D. 10 2 CD
3 AB
4. none
3) 8e+7<29 4) 2xe>22 5) Ge+7<57 5, C
A2 A.l A.10
B.1 B.3 B. 10 6. C
C. 4 C.3 C. 4
D.4 D.6 D. 10 7. B
8. A,B,C,D
9. AiBich
6) 5e-3>35 7) 2e+6<22 8) ex6<70 10. none
A.6 A.9 A.7
B.5 B.7 B.5 11. none
C.10 C.10 C. 4
D.3 D.8 D.2
9) ex4<41 10) 5e-4>47 11) 4e+3>39
A.8 A.6 A.2
B.9 B. 10 B.5
C.6 C.9 C. 4
D.1 D.2 D.3
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe
variablewrite'none'.

Answers

Ex) 10e+3<92 1) 3<34-=+e 2) 23+e>5 Ex.
A. 10 A.2 A.5
B.4 B.6 B.1 L
C.6 C.3 C.6
D.2 D.8 D.4 2.
3.
4.
3) ex6>31 4) 2xe<l14 5 6e-8>19 5.
A. 10 A.7 A.3
B.7 B.7 B.4 6.
C.10 C.1 C.2
D.2 D.8 D.6 7.
8.
9.
6) 3+2e>17 7) 2xe<28 8) ex7<30 10.
A.8 A.5 A. 10
B.9 B.7 B.3 11.
C.7 C.7 C.3
D.2 D.6 D.1
9) 5e+6<53 10) 33<9e-8 11) 6e-5>58
A.8 A.2 A.6
B.4 B.3 B.4
C.5 C.5 C.2
D.3 D.9 D.1
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ﬂh Using Substitutions to Solve Problems. Name: Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) 3<34-=+e 2) 23+e>5 Ex.
A.10 A.2 A.5
B.4 B.6 B.1 . _ABCD
C.6 C.3 C.6
D.2 D.8 D.4 2 B.D
3, A,B,C
4 C
3) ex6>3l 4) 2xe<14 5) 6e-8> 19 5. D
A.10 A.7 A.3
B.7 B.7 B.4 6. A,B
C.10 C.1 C.2
D. 2 D.8 D.6 7. _AB,CD
8. B,C,D
9. AlBich
6) 3+2e>17 7) 2xe<28 8) ex7<30 10. C,D
A.8 A.5 A. 10
B.9 B.7 B.3 11. none
C.7 C.7 C.3
D.2 D.6 D.1
9) 5e+6<53 10) 33<9e-8 11) 6e-5>58
A.8 A.2 A.6
B.4 B.3 B.4
C.5 C.5 C.2
D.3 D.9 D.1
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Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) 6xe>39 2) 93+e>5 Ex.
A. 10 A. 10 A.5

B.4 B.1 B.9 L
C.6 C.10 C.6

D.2 D.6 D.9 2.

3.

4.

3) 2xe<l4 4) 8<23+e 5 ex8>28 5.
A.7 A.7 A.2

B.2 B.1 B. 10 6.
C.3 C.1 C.6

D. 10 D.8 D.7 7.

8.

9.

6) 8<2e-9 7) 53+e>8 8) ex 10> 100 10.
A.3 A.6 A.8

B.2 B.8 B.6 11.
C.7 C.9 C.6
D.1 D.4 D. 4

9) 6e+8>54 10) 67+e>10 11) 56+e>6
A.5 A.4 A.6
B.3 B.1 B.2
C.7 C.8 C. 4
D.6 D.3 D.8
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) 6xe>39 2) 93+e>5 Ex.
A. 10 A.10 A.5
B. 4 B.1 B.9 1 AC
C.6 C.10 C.6
D. 2 D. 6 D.9 2. _ABCD
3 B,C
a. B,C
3) 2xe<14 4 g<23+e 5) ex8>28 5. _ B.CD
A7 A7 A.2
B.2 B.1 B. 10 6. none
C.3 C.1 C.6
D. 10 D.8 D.7 7 AD
8. none
0, none
6) 8<2e-9 7) 53+e>8 8) ex 10> 100 0. ABD
A.3 A.6 A.8
B.2 B.8 B.6 1u. _ABCD
C.7 C.9 C.6
D.1 D.4 D.4
9) 6e+8>54 10) 67+e>10 11) 56+e>6
A.5 A.4 A.6
B.3 B.1 B.2
C.7 C.8 C.4
D.6 D.3 D.8
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
[ Math ] www.CommonCoreSheets.com 6 11 [0 ]




JL_

Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) 6e+3<24 2) 8-9>30 Ex.
A.10 A. 10 A.5

B.4 B. 10 B.1 1
C.6 C.3 C.3

D.2 D.5 D. 10 2.

3.

4.

3) ex2<17 4) 60+e>5 5) 2xe<14 5,
A.7 A.4 A.3

B.4 B.5 B.5 6.
C.6 C.9 C.8

D.3 D.2 D.2 7.

8.

9.

6) 10e-5>39 7) 8e-7>74 8 9%+3<30 10.
A.6 A.5 A.2

B.9 B.9 B.1 11.
C.5 C.7 C.6
D.9 D.8 D.5

9) 9%e+6>44 10) 9e-10>71 11) 26<4e-3
A.10 A.6 A.6
B.3 B.5 B.7
C.2 C.7 C.8
D.7 D.1 D.9
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) the variable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
EX) 10e+3<92 1) 6e+3<24 2) 8-9>30 Ex.
A.10 A.10 A.5
B.4 B. 10 B.1 1. C
C.6 C.3 C.3
D.2 D.5 D. 10 2 A.D
s AB,CD
s ABCD
3) ex2<17 4) 60:e>5 5) 2xe<14 s. _ ABD
A7 A4 A.3
B.4 B.5 B.5 6. AB,CD
C.6 C.9 C.8
D.3 D.2 D.2 7. none
8. A,B
9. A,D
6) 10e-5>39 7) 8e-7>74 8) 9e+3<30 10. none
A.6 A.5 A.2
B.9 B.9 B.1 11, CD
C.5 C.7 C.6
D.9 D.8 D.5
9 9%+6>44 10) 9e-10>71 11) 26<4e-3
A.10 A.6 A.6
B.3 B.5 B.7
C.2 C.7 C.8
D.7 D.1 D.9
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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JL_

Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) 5<32+e 2) 4e-6>28 Ex.
A.10 A.10 A.3
B.4 B.4 B.9 1
C.6 C.9 C.5
D.2 D.6 D.6 2.
3
4,
3) 7e-8>20 4) 7e-5>65 5) 19+e>9 5.
A7 A.9 A.6
B.4 B.8 B.7 6.
C.5 C.6 C.1
D.2 D.3 D.5 7.
8.
e}
6) 7<82+e 7) ex10>97 8 10+8e<32 10.
A.9 A4 A.6
B.7 B.8 B.5 11.
C.7 C.10 C.8
D.6 D.7 D. 10
9) 9xe<28 10) 2<34+e 11) 9xe>32
A.6 A.2 A.6
B. 10 B.1 B.6
C.7 C.3 C.10
D.3 D.6 D.4
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) 5<32+e 2) 4e-6>28 Ex.
A. 10 A.10 A.3
B.4 B.4 B.9 L B,D
C.6 C.9 C.5
D. 2 D. 6 D.6 2 B
3 A,C
4. none
3) 7e-8>20 4) 7e-5>65 5) 19:e>9 5, C
A7 A.9 A.6
B.4 B.8 B.7 . AB.CD
C.5 C.6 C.1
D.2 D.3 D.5 7 C
8. none
9. D
6) 7<82+e 7) ex10>97 8) 10+8e< 32 o _ABCD
A.9 A.4 A.6
B.7 B.8 B.5 1. ABCD
C.7 C.10 C.8
D.6 D.7 D. 10
9) 9xe<28 10) 2<34+e 11) 9xe>32
A.6 A.2 A.6
B. 10 B.1 B.6
C.7 C.3 C.10
D.3 D.6 D.4
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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C:h Using Substitutions to Solve Problems. Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) ex2<11 2) 79<9%-4 Ex.
A.10 A.9 A.6
B.4 B.4 B.5 1
C.6 C.7 C.1
D.2 D.5 D.8 2.
3.
4,
3) 12<7e-2 4) ex9<69 5) 8<4e-2 5.
A.2 A.2 A.3
B.4 B.8 B. 10 6.
C.7 C.7 C.1
D.8 D.6 D.1 7.
8.
9.
6) ex10<62 7) 54+e>2 8) ex10<23 10.
A.5 A.9 Al
B.6 B.6 B.6 11.
C.5 C.10 C.9
D.3 D.7 D.3
9) 4+9>95 10) 6e-8>27 11) 2<25+e
A.9 A. 10 A.9
B.4 B.1 B.3
C.6 C.3 C.1
D.7 D.7 D.1

9 1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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ﬂh Using Substitutions to Solve Problems. Name: Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) ex2<11 2) 79<9%-4 Ex.
A.10 A.9 A.6
B. 4 B. 4 B.5 1 B,D
C.6 C.7 C.1
D. 2 D.5 D.8 2 none
s _ BCD
s ACD
3) 12<7e-2 4) ex9<69 5) 8<de-2 5, A,B
A.2 A.2 A.3
B. 4 B.8 B. 10 s. _ABCD
C.7 C.7 C.1
D.8 D.6 D.1 7z _ABCD
8 A
0. none
6) ex10<62 7) B4+e>2 8) ex10<23 10. AD
A.5 A.9 Al
B.6 B.6 B.6 1u. _ABCD
C.5 C.10 C.9
D.3 D.7 D.3
9) 4+9>95 10) 6e-8>27 11) 2<25+e
A.9 A.10 A.9
B.4 B.1 B.3
C.6 C.3 C.1
D.7 D.7 D.1

9 1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
1 [0
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JL_

Using Substitutions to Solve Problems.

Name:

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe

variablewrite'none'.

Answers

Ex) 10e+3<92 1) ex9>44 2) 5e+2>39 Ex.
A.10 A. 10 A.7
B.4 B.6 B.5 1.
C.6 C.7 C.10
D.2 D.9 D.9 2.
3.
4.
3) 7+2e<18 4) 4e+6<35 5) 94<10e-5 5.
A.7 A.5 A. 10
B.6 B.2 B.9 6.
C.5 C.4 C.8
D.3 D.5 D.1 7.
8.
9.
6) 2e-3>6 7) 7<8l+e 8 30+e>5 10.
A.10 A. 10 A.8
B.7 B. 10 B.6 11.
C.3 C.5 C.9
D.4 D.4 D.8
9) ex7>80 10) 8e+9<50 11) 26<4e-8
A.5 A.1l A. 10
B.6 B.8 B.5
C. 10 C.10 C.3
D.2 D.6 D.4
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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Using Substitutions to Solve Problems.

Name:

Answer Key

Deter mine which option(s) thevariable'e' could be. If none of the options could bethe Answers
variablewrite'none'.
Ex) 10e+3<92 1) ex9>44 2) 5e+2>39 Ex.
A.10 A.10 A.7
B.4 B.6 B.5 . _ABCD
C.6 C.7 C.10
D.2 D.9 D.9 2 CDhD
3, CD
s ABCD
3) 7+2<18 4) 4e+6<35 5 94<10e-5 5. A
A.7 A.5 A. 10
B.6 B.2 B.9 6. A,B
C.5 C.4 C.8
D. 3 D.5 D.1 7. AB,CD
8. none
Q. none
6) 22-3>6 7) 7<8l+e 8 30:e>5 10. A
A.10 A. 10 A.8
B.7 B. 10 B.6 11. A
C.3 C.5 C.9
D.4 D.4 D.8
9) ex7>80 10) 8e+9<50 11) 26<4e-8
A.5 A.1l A. 10
B.6 B.8 B.5
C.10 C.10 C.3
D.2 D.6 D.4
1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
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